Plan lekcji w SP11 od 01.09.2023r.
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0 7:15- 8:00
1 8:05- 8:50 od 7.30 BO |e w |K WJ Jle w |1
- 2 8:55- 9:40 BL zer |2 BO |e w |6 WJ Je w |1 JL mat 5
% 3 9:50-10:35 BL zer |2 BO |e w |6 WJ |e_w |1 JL mat 5 JS  |wf SG
'_g 410:40-11:25 BL zer |2 BO |e w |6 WJ le w |1 PM prz 5 JS  |wf SG
O | 5 11:40-12:25 do 12.30 JZ |poz |6 SA lja |1 G j.p 5) PM |muz 3
é 6 12:40-13:25 KL Je w |6 KR Je w |1 WJ muz 5 JG |j.p 3
7 13:30-14:15 KL e w |6 KR Je w |1 SE _|his 5
8 14:20-15:05 KL Je w |6 KR Je w |1 SA lia 5
9 15:10-15:55 KL |e w |6 JZ |poz |K
0 7:15- 8:00
1 8:05- 8:50  Jod 7.30 do 8.00 religia SA lia_ e JZ |poz |K G jp 5
2 8:55- 9:40 BL zer |2 TB |frel |6 SA lja |1 UG j.p 5
o |3 _9:s0-t0:35 BL zer |2 BO |e w |6 KR |e w [SG JWJ Je w |1 B rel 5) SA lj.a 4
Q| 4 10:40-11:25 SAj. ang- 0 TB frel |6 JBO |e w |SG pJZ e i |K JWJJe w |1  ]KR pla 5 IMZ |mat 3
é 5 11:40-12:25 do 12.30 KL |e w |6 SA ljia |K JWJle w |1 JS wif-1/2 sG  IMZ [mat 3
6 12:40-13:25 KL |le w |6 KR |e w |1 JS wf-1/2 SG JG |j.p 5
7 13:30-14:15 SA lia_|6 KR e w |1 B |rel 5
8 14:20-15:05 KL |e w |K TB |rel |1 SE |his 5
9 15:10-15:55 KL Je w |SG
0 7:15- 8:00 1 |
1 8:05- 8:50 od 7.30 KL |e w |6 KR |e w |1 SA/JS |j.a-1/2/wf-2/2  |4/SG JPM |geo 5)
2 8:55- 9:40 BL zer |2 JKL |e w |6 KR le w |1 JS/SA _|wf-1/2/j.a-2/2_|SG/4 JMZ |mat 5
3 9:50-10:35 BL zer |2 KL le w |6 KR |le w |1 G j.p 5) JS  |wf SG
J | 4 10:40-11:25 BL zer |2 KL Je w |6 KR Je w |1 JZ tec 5 JS  |wf SG
UE, 5 11:40-12:25  [do 12.30 BO lew]6 Jwifem |1 SA 73] 5 PM |zaj 4
6 12:40-13:25 SA |j.a_ |6 WJ Je w |1 JL mat 5 JZ |inf-1/2_|K
7 13:30-14:15 BO le w |6 WJ le w |1 B rel 5
8 14:20-15:05 BO Je.w |6 TB |rel |1
9 15:10-15:55 BO |le w |6 WJ le w |SG
0 7:15- 8:00 | |
1 8:05- 8:50 od 7.30 KL Je w |6 KR Je_w |SG JL mat 5
2 8:55- 9:40 BL zer |2 KL e w |SG KR |e w |1 JG j.p 5 JZ |inf-2/2 |K
~ | 3 9:50-10:35 BL zer |2 TB [rel |6 KR |ew |1 JS/SA  |wf-1/2/j.a-2/2 |SG/K JPM [bio 5)
% 4 10:40-11:25 BL zer |2 KL |e w |6 KR |e w |1 SA/JS |j.a-1/2/wf-2/2 |K/SG PG |j.p 5
§ 5 11:40-12:25 do 12.30 TB |rel |6 WJlew |l [MZ inf-2/2 K JG_li.p 5
O [ 1zza013:25 BO |le w |6 WJ le w |1 SA j.a-2/2 K TB |rel 5
7 13:30-14:15 BO |e w |6 WJ |e_w |1 JRJ |wyc 5
8 14:20-15:05 BO |le w |6 WJ Je w |1
9 15:10-15:55 BO |e w |SG TB |rel |1
0 7:15- 8:00 | |
1 8:05- 8:50  fod 7.30 KL [e w |6 TB [rel 1 Jwife w |K SA lia 5
2 8:55- 9:40 BL zer |2 JKL fe w |6 SA lia |1 Wile w |@ JG_li.p 5
3 9:50-10:35 BL zer |2 KL e w |SG KR le w |1 W) ]ew |@ IMZ |mat 5)
fuj 4 10:40-11:25 do 12.00 BL SA lja |6 KR |e w [SG jWJ Je_w |1 |JZ tec 5
& |5 tria0-12:2s Jod 12.00 do 12.30 /SA 0z |poz |6 [Mzi3s Jinf-1/2iwf-2/2 |KiSG |KR |pla 1
6 12:40-13:25 BO |e_ w |6 SAIJS |j.a-1/2/wf-2/2  |1/SG IkR poz 0
7 13:30-14:15 BO |le w |6 PM prz 5)
8 14:20-15:05 BO Je w |6 SE his 5
9 15:10-15:55 BO |e w |SG
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z/mat/ JL
MZ |mat 4 <JS> [<wf-1/2> |<SG> [<JS> <wf-1/2> <SG> JL mat 7
MZ [mat 4 <JS> |<wf-1/2> [<SG> |<35>/37  |<wf-1/2>/inf-2/2 |<SG>/K JGP che 7
PM |muz 4 MZ mat 0 JG j.p 3 MK/JZ |j.a-1/2/inf-2/2  |7/K
IND |wf @ pr [mat 4 fmz  |mat 0 JG i.p 3 JZIMK_|inf-1/2/j.a-2/2  |KI7
MK [j.a K pr |mat 4 IS j.p 0 MZ mat 7 ND wi-2/2 SG
JZ  |tec K |SE |j.p 4 JSA j.a 0 PM geo 7 ND wf-2/2 SG
IND wf SG |PM muz 4 SA j.a 3
JZ l|inf-1/2 |K [<ND> |<wf-2/2> |<SG> J<ND> <wf-2/2> <SG>
<ND> [<wf-2/2> |<SG> J<ND> <wf-2/2> <SG>
JG poz 7
<ND> [<wf-2/2> |<SG> J<ND> <wf-2/2> <SG> WB his 7
<ND> [<wf-2/2> |<SG> Juz/<ND> [inf-1/2/<wf-2/2> |K/<SG> |ST fiz 7
wB  |his 0 ST fiz 3 JG j.p 7
ST fiz 0 ND pla 4 JG j.p 7
SE j.p 0 JG i.p 4 MKI/BS [j.a-1/2/j.n-212  |7/5
MP |ip 4 JTB [rel 3 JIsA j.a K WJ muz 2 BS/MK [j.n-1/2/j.a-2/2  |or7
MP lj.p 4 IBS Jja 3 JPM geo 0 MK poz 7 JS wif-1/2 SG
PM |geo 4 IBs Jja 3 JS wi-1/2 SG
B |rel 4 IP™m Jgeo 3
|
Jz inf-212 |K GP  [che 0 MZ mat 3 IRy wos 7
PM |bio 0 iz inf K [r wyc 3 lic i.p 7
MP |j.p 4 oz linf212 |K Mz [mat 0 SA j.a 3 Irm geo 7
MZ |mat 4 IND |pla K |PM geo 0 SA j.a 3 JL mat 7
MK |zaj 0 IND wf SG Pz zaj K MZ z3j 3] JL zaj 7
MK lj.a 4 IND |wf SG |sE i.p 0 B rel 3 Irm bio 7
JZ |inf-1/2 |K QL |mat 4 J<IS>  |<wf-1/2> |<SG> |<JIS> <wf-1/2> <SG> WB his 7
SE |j.p 3 J<IS>  |<wf-1/2> |<SG> |<JS> <wf-1/2> <SG> z/j.ang/MK
WB |his 3 | |
TB |rel 4 Nz poz 0 GP che 3 ST fiz 7
IND |muz 4 ITB rel 0 ST fiz 3 JL mat 7
IND |zaj 0 |sT fiz 3 G i.p 4 JL mat 7
Jb.  |mat 4 |PM bio 0 MZ mat 3 B rel 7
IND |wf sG Ise lip 4 [sA j.a 0 BS j.n 3 IR e d 7
IND |wf sG IsE i.p 4 |IBs j.n 0 WB his 3 IrJ WO0S 7
MP |ip 4 IBs |ja 7w Jhis 0 B rel 3 ND wf-2/2 SG
MP |his 4 Jwa |his 3 [r wyc 0 ND wif-2/2 SG
IRl fwyc |4 | [ che 3
| IND |poz 3
IND |wf sG [pm [bio 0 Mz [mat 4 GP che 3 JG j.p 7
MZ [mat 4 IND |wf sG [TB rel 0 PM geo 3 GP che 7
TB |rel K Pz |tec 4 ND pla 0 PM bio 3] JG j.p 7
MK Jj.a 4 JSE lip 0 |ss j.n K MZ mat 3 B rel 7
MP |ip 4 PM bio 5 JG i.p 3 BS/MK [j.n-1/2/j.a-2/2  |or7
MP |his 4 SE i.p K PM bio 3 MK/BS lj.a-1/2/j.n-212  |7/5
KR [pla 0 SE j.p 4 BS j.n 3 JS wif-1/2 SG
KR |poz 0 wB his 3 JS wi-1/2 SG
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